KTZ-80X-AAA-O

PITT Qube

2025/01/1416:01:01

d.

Copyright(c) KOSHIN Ltd. All Rights Reserve



PITT Qube KTZ-80X-AAA-O
No. mE & - HME B Eff iBE
1 012294601 |KTH-80X-2 Ry T&tk ADC+yayh |1 16,500
2 011807903 [25A 7°34° 43 PA244 2 600|PA-244(4971770-107274)
3 011558002  |KTH-80X #n" - Wb (3fd/AA-PAvE) S35C 4 700
4 011567802  [KTH-80X Aazly-l HJ-25(B)BSIC|1 9,400
5 011617202 |WTBiRd A CR 60° 4 1,500
6 011651601  [75v¥ fdRAIALRIL b M8x55 SCM |4 300
7 011649302  [7h37yy4-¢ 8 A1100 PH14 (4 200
8 011554702  [KTH-80X it Ak ZENHERE ADC+yayh |1 6,500
9 012320601  [SE-80L-10tH 7509 n° vy CR (ROHS2) |1 500
10 011845003 [32A7°34" 4% PA157 1 800|PA-157(4971770-102163)
11 011583801 |KTH-80X It 7 5 > I (PS) ADC+y3ayh |1 2,700
12 012320701  [KTH-80X AN R/Rw £ NBR70° 1 400
(ROHS2)
13 011559002 |KTH-80X / 7 4 1,400
14  [012321701  |[KTH-80X 7-924" 1° &y NBR 1 600
(ROHS2)
15 012320801  |KTH-80X 70VMN -N° v4y NBR 1 600
(ROHS2)
16 011555804 |[KTH-80X A4 RS HRFC 1 35,200
17 012190003  |KTH-80X 7avMn° -(KOSHIN) 3 g1k ADC EEWE[ 16,200
18 [011567601 |KTH-80X OY»%" NBR 1 200
19 012190801 KTH-80XiB&=E (3 A #HE) FCD450 1 24,800
20 012153901  |["ATYFEHF IMNI°VITATY) M8x35 A2- |3 500
80
21 012154002 |FEE (4F5k) 8.1*17°T2 |3 200
MFZN Il -H.C
22 011157303 [SE-80LIRA 75~ ¥ (G) Y3y h 1 3,100

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1416:01:01




PITT Qube KTZ-80X-AAA-O
No. mE & - HME B Eff iBE

23 011569201  [KTH-80X Fvydn 17" 1° w4y NBR NEO- |1 1,700
180

24 012732601 |KTZ-80X X—2 % X Bl L2 1 22,500

25 842319008 [M8RFY>FF+w bk SWRM 4 200

26 743119083  |MAN It EELHBASAET W M12X45 SWRM 4 200
M12X45 3
ni-p

27 743119063  [MAN ISR ESERANET W M10X30 M10x30 |4 200
SWRM

28 743119061 MAN T It EEE A SAT b M10X25 M10x25 |4 200
SWRM

29 743119065  [MAN BIERESHEANARIL b M10x35 |6 200
SWRM

30 827419010 [+ v kM10 M101%&Hh |2 200
SWRM =1

31 012364001  [KTZ-80X-AAA-0%%4#R FhOY7 4L 2 300

32 011008101  [SU-8OLAVA°SEREET w & v — T0.3 1 200

33 012364101  [K300-DO-P 1Yy ERNE 3 0

34 012731202  [SE-80X #97°)»9" H3(ROHS2) ROHS2/t# |1 1,900

35 011437504  |SE-80X #y7°Yyy” ABSE 3 0

36 011030105 [SE-80LTTDF=v I ABS 1 0

37 012321602  [SE-80X #97° Yu9" n° vy NBR.HS70+5 |1 400
(ROHS2)

38 940407090 [y at yn yp 3" 3" 2 800

39 011097803  |KTH-80X Abb-1-(¥4/3) SPC ¥%/3 2 6,400

40 741305153  [#RJL kM8*15 M8x15 3f& |2 500
4 SUS

41 011576702 |KTH-80X EEIE SPC 1 2,400

42 012230701  [SERIHHY A R/IRRILS RV Ba-k7hoy |1 300
#50+PET#16

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1416:01:01




